e
Bol FteE BAs 2s(IEUTANL/ =LA

Sl XY Juns (2ol me
SAN-F2.AA(3AH) - AIRAE - BES Oif &K JIEH Hus2

XM e B 6,224,135 3,114,135 3,110,000

= 3,000,000 0 3,000,000

= 35,000 35,000 0

= 3,189, 135 3,079,135 110,000

e et 2o (IELINL/TAREA) 6,208,200 3,093,200 3,110,000

= 3,000,000 0 3,000,000

= 35,000 35,000 0

= 3,168,200 3,056,200 110,000

ud Jgas 3,186,200 3,076,200 110,000

= 35,000 35,000 0

= 3,151,200 3,041,200 110,000

H12%t GTI £8] H3 180,000 90,000 90,000

201 yeree 110,000 50,000 60,000

01 A R2lE] 20,000 0 20,000

ONI2% GTIZ3| A 20,000 0 20,000

08 A2 L] 90,000 50,000 40,000

OMI12%t GTIZ8] Ha 90,000 50,000 40,000

301 Yerw a3 70,000 40,000 30,000

08 SIBIEHOI 55,000 25,000 30,000

ONI2% GTIZ3! WAl 55,000 25,000 30,000

ZoHHLTARS NSRS KR 25,000 16,000 10,000

308 XXIEHHISO0I M 25,000 15,000 10,000

05 NAEHZ=ES 25,000 16,000 10,000

OBAZHLTARS ART 2 T8 25,000 15,000 10,000

s=Usa 2EEe A 10,000 0 10,000

307 2120/ 10,000 0 10,000

04 BRABARE 10,000 0 10,000

osRURR YFEY Wi X 10,000 0 10,000

NEs =MAE X)|Ts 3,017,000 17,000 3,000,000

= 3,000,000 0 3,000,000

= 17,000 17,000 0

Ne MEEY Z8(2D) 3,000,000 0 3,000,000

= 3,000,000 0 3,000,000

403 TXEHSTHZO0IM 3,000,000 0 3,000,000

= 3,000,000 0 3,000,000

01 AAEHNEEE 3,000,000 0 3,000,000

OFEZ MEB TENY X 3,000,000 0 3,000,000

= 3,000,000 0 3,000,000
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